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Function Machines - Creating Expressions Name:
Write an expression to show therelationship between theinput and the output. Answers
Input | Output 2) | Input | Output 3) | Input | Output
a (b) (x) v) (e) Q) 1
42 29 29 14 62 64
90 77 17 2 83 85 2
89 76 25 10 63 65
65 52 18 3 50 52 3,
78 65 45 30 65 67
4.
5.
Input | Output 5) | Input | Output 6) | Input | Output
(i) () (b) (©) (x) v) 6.
9 54 90 10 25 5
5 30 72 8 35 7 7
10 60 54 6 20 4
2 12 45 5 50 10 8
8 48 81 9 45 9
e}
10.
In(k) | 17|87 6 | 11 8| In(s) |12]| 8| 4 | 14 .
Out(l) | 22|92 | 11 | 16 Out (t) 6 4 2 7 1
In (s) 3|1 81| 4|5 10) | In(s) | 42| 14| 49 | 28
Out(t) | 12| 32| 16 | 20 Out (t) 6 2 7 4
In(y) | 8 | 71| 54 | 50 12) | In(e | 24|80 | 94| 52
Out (2) 9 | 72| 5 | 51 Out(f) | 19 | 75 | 89 | 47
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Function Machines - Creating Expressions Name:  Answer Key
Write an expression to show therelationship between theinput and the output. Answers
1 | Input | Output 2) | Input | Output 3) | Input | Output
() (b) (x) (y) (e) () 1 a-13=b
42 29 29 14 62 64
90 77 17 2 83 85 > X-15=y
89 76 25 10 63 65
65 52 18 3 50 52 3 e+2=f
78 65 45 30 65 67
a-13=b x-15=y e+2=f 4 i><6:j
5, b+9=c
4) | Input | Output 5) | Input | Output 6) | Input | Output
(i) () (b) (c) (x) (y) 6. X+3=Yy
9 54 90 10 25 5
5 30 72 8 35 7 2 k+5=]|
10 60 54 6 20 4
2 12 45 5 50 10 8 s+2=t
8 48 81 9 45 9
i x6=] b+9=c X+5=y 9 sx4=t
1. ST /=t
+1=z
11.
Nl Ink) |17|87] 6 | 11 81 In(s) |12| 8| 4 | 14 Y
Out (1) 22 192 | 11 | 16 Out (t) 6 4 2 7 1 e-5=f
k+5=I s+2=t
Nl Ints | 3| 81| 4] 5 100 | In(s | 42| 14| 49 | 28
Out(t) |12 | 32| 16 | 20 Out (t) 6 2 7 4
sx4=t s+7=t
I | Ingy | 8| 71|54 50 12) | In(e | 24|80 | 94| 52
Out (2) 9 [ 72|55 | 51 Out (f) 19 | 75 | 89 | 47
y+tl=z e-5=f
M ath 1-10 | 92| 83| 75|67 |58 | 50| 42| 33| 25| 17|
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